1.

RE7AN =ZAkk =ZAFROEE 02

KD NABC OHEZRD L. 7277, BC=a, CA=b, AB=c L7 53.
(SH110%, Afk24r, B33 208, C#5%)
(1) A=60° b=3, c=4 (2) C=45°, a=b=+6
(3) cosB= -2, a=26, ¢=20 (4 a=5, b=6, c=7

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

(1)

(3)

RD NAABC Olfifiz R k. 7272L, BC=a, CA=b, AB=c £753.
(SH17108, A2, B#35208, C#54)

A=60°, b=+v6, c=2 (2) C=30° a=b=+10
cosB:%, a=34, c=15 4) a=7, b=8, ¢c=9
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REFAL Zfakk SAROER 02 RERH

RD AABC OHifEzRD L. 7272, BC=a, CA=b, AB=c £753.
(SH17108, A2, B#35r208, CH54)

* ZAFKOHEE AABC= %bcsinA
Z“ABOHEEZRDZAXTH 5. LFEERIE T,

AABC = %bcsinA —LiysinB = %absinC

2
B. ELEZD. EXD LI, 2KAMELZA A =TT B E L,
(1) A=60° b=3, c=4 (2) C=45°, a=b=+6
AABC = %bcsinA AABC = %ab sin C
:%‘3‘4Sin600 :%.\/ézsin45o
—l.a.4.¥38 PN
=1.3-4-2 =16 %
=3v3 &z _ 3v2 L
2
(3) coslei37 a=26, ¢c=20 (4) a=5, b=6, ¢c=7
cosB = 15—3%)36, sinB 7k 5. * RKEE LD,
_ b2+ -d?
cos A = gt
sin? B + cos? B =1 :%
()" =1 B
: 44
= sin’B =I5 :2_660‘7
= sinB=+1 =3
BIZZABORALD>» S, 0° < B < 180°
£oT,sinB>0 &0, sin? A + cos2 A =1
sinB = 12 sin A+ (2)? =1
w2, = sin2A:%
AABC = icasinB = sinA::I:L}/é
=3"20-26-33 A BEABONMEDS, 0° < A < 180°
=240 -&Z £oT, sinA >0 &0,
sinAz%
Wz 1z,
AABC = %bcsinA
~ T
_6v6 EX

FANE Y DRRDIZ ) DMEEZDS, 2 OENTENL
~a Y DORANITTEZ 5 HED e,

* YDA

ZADEZD a,b,c DEAFOIHRIZ,

VG- -D(s—c HELs= %b“

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

KD NAABC Dfifizske k. 7272L, BC=a, CA=b, AB=c T 5.
(SH17108, A2, B#35208, C#54)

(1) A=60° b=+v6, c=2 (2) C=30° a=b=+10
AABC = %bcsinA AABC = %ab sin C
= 3°V/6* 25in 60° = L.J/10° sin 30°
1. /7. 3 —1.10-
=3V6 2+ =310
_ 3v2 ey _5 L=z
—? = A D)
(3) coslei77 a=34, ¢c=15 (4) a=7, b=8, ¢=9
cosB= 225, sinB 2K 5. * RIXEE LD,
cos A = Y2+c’=a’
2bc
sin? B + cos? B =1 :%
sin® B + (%)2 =1 = 848129
.2
= sin B:% :2_986‘9
= sinB:i% :%

B X =AIBONMEDLS, 0° < B < 180°

koT, sinB>0 X0, sin? A +cos? A =1
sinB = 12 sin A+ (2)? =1
Wz 1z, = sin2A:g
AABC = icasinB = sinA::té
= 5153442 AREAGOWAEDS, 0°< A < 180°
=225 -&Z XoT, sinA>0 &0,
sinAz%
w212,
AABC = %bcsinA
:%.8.9.§
=12v5 &Z

Yoy DONADIZE ) DB, T OFEITE UL
~a Y DRI A B EED 5\,
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